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(a)IflﬂﬁﬁEﬁﬁF | ={-2<X <2} > j‘ﬁ%gﬁgy :
(b)ffi5eilu ik R={X >1.82} > :* p {f :
_(Xl—X)z+(X2—>Z)2+-~~+(x9_>z)2
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(b) ™ 1-ar=90% ﬁ‘hﬂ%@a&d °
3. X £} E'E“Wﬁjtmf‘ Fﬂ'ﬁ%{ 4, <Y ¢ = 0,05 » TR Bh I -

X2 53R % B b i £ 532 B R
a a
FIEh 0.005 0.01 0.025 0.05 0.1 EIpha 0.005 0.01 0.025 0.05 0.1

5 16.7496 15.0863 12.8325 11.0705 9.2364 1 63.6567 31.8205 12.7062 6.3138  3.0777
6 18.5476 16.8119 14.4494 12.5916 10.6446 2 9.9248 69646  4.3027 29200 1.8856
7 20.2777 18.4753 16.0128 14.0671 12.0170 3 5.8409 45407 3.1824  2.3534  1.6377
8 21.9550 20.0902 17.5345 15.5073 13.3616 4 46041  3.7469 27764  2.1318  1.5332
9 23.5894  21.6660 19.0228 16.9190 14.6837 5 4.0321 33649 25706  2.0150  1.4759
10 25.1882 23.2093 20.4832 18.3070 15.9872 [§ 37074 3.1427 24469  1.9432  1.4398

z PR PO=2=2%)

Z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
1.6 0.4452  0.4463 04474 0.4484  0.4495] 0.4505 0.4515 0.4525 0.4535  0.4545
1.7 0.4554 04564 04573 04582 04591 04599 04608 0.4616 04625  0.4633
1.8 0.4641 0.4649 04656 0.4664 0.4671 | 0.4678 0.4686 0.4693  0.4699  0.4706
1.9 04713 04719 04726 04732 04738 04744 04750 04756 04761 0.4767
2.0 0.4772 04778 04783 04783  0.4793] 0.4798 0.4803 0.4808 0.4812  0.4817

F V% R R

nl a = 0.05 a = 0.1
n2 2 4 6 8 2 4 6 8
2 19.0000 19.2468 19.3295 19.3710 | 9.0000  9.2434  9.3255  9.3668
4 6.9443 63882  6.1631 6.0410 | 4.3246  4.1072  4.0097  3.9549
6 5.1433 45337 42839  4.1468 | 3.4633  3.1808  3.0546  2.9830
8 44590  3.8379  3.5806 3.4381| 3.1131 2.8064 2.6683  2.5893
10 41028 34780 32172 3.0717| 29245 2.6053 24606 2.3772
12 3.8853  3.2592 29961  2.8486 [ 2.8068 2.4801 2.3310  2.2446
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@Cl={-2<X<2}={-2<2<2} » P(-2<2<2)=2x0.4772=0.9544

(b)R={X >1.82}={z>182} » p=P(z>1.82)=05-0.4656=0.0344

(€)Z £ df =9-1=8[1Y y? S5l » 42 osqr.s =15.5073 > R={Z >15.5073}
2.

() F,o05,67-(s2) =19.2468 » R={X >19.2468}

1 1

(O Fo5.61—(4.2) = ooy 6903 0.1440 » Cl ={0.1440< X <19.2468}

3.

t,oosar_s =2.1318 » R={X >2.1318}
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(a) fFeen [l C | ={7<X<11} > j*[ﬂ;“%’@
(b)?ﬁﬂﬁ Ehink R = { } » 1 p @ :
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2. XELENIE (6,8) 1V F o3l « (@) =4 » R 15 o = 0.01 » SFEiReildh 25 ;
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3. X H E[glﬁa SEEASHEENIES BT o< ¢ = 0.01 » TR HR6TE I8 -

X2 53R % B b i £ 532 B R
a a
FIEh 0.005 0.01 0.025 0.05 0.1 EIpha 0.005 0.01 0.025 0.05 0.1
5 16.7496 15.0863 12.8325 11.0705 9.2364 1 63.6567 31.8205 12.7062 6.3138  3.0777
6 18.5476 16.8119 14.4494 12.5916 10.6446 2 9.9248 69646  4.3027 29200 1.8856
7 20.2777 18.4753 16.0128 14.0671 12.0170 3 5.8409 45407 3.1824  2.3534  1.6377
8 21.9550 20.0902 17.5345 15.5073 13.3616 4 46041  3.7469 27764  2.1318  1.5332
9 23.5894  21.6660 19.0228 16.9190 14.6837 5 4.0321 33649 25706  2.0150  1.4759
10 25.1882 23.2093 20.4832 18.3070 15.9872 [§ 37074 3.1427 24469  1.9432  1.4398

z PR PO=2=2%)

Z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
1.6 0.4452  0.4463 04474 0.4484  0.4495] 0.4505 0.4515 0.4525 0.4535  0.4545
1.7 0.4554 04564 04573 04582 04591 04599 04608 0.4616 04625  0.4633
1.8 0.4641 0.4649 04656 0.4664 0.4671 | 0.4678 0.4686 0.4693  0.4699  0.4706
1.9 04713 04719 04726 04732 04738 04744 04750 04756 04761 0.4767
2.0 0.4772 04778 04783 04783  0.4793] 0.4798 0.4803 0.4808 0.4812  0.4817

F o3 B F b fifi

nl a = 0.05 a = 0.01
n2 2 4 6 8 2 4 6 8
2 19.0000 19.2468 19.3295 19.3710 | 99.0000 99.2494 99.3326 99.3742
4 6.9443 63882  6.1631  6.0410| 18.0000 15.9770 15.2069 14.7989
6 5.1433 45337 42839 41468 | 10.9248  9.1483  8.4661  8.1017
8 44590 3.8379 35806 34381 | 86491 7.0061 6.3707  6.0289
10 4.1028 34780 32172 3.0717| 7.5594 59943  5.3858  5.0567
12 3.8853 3.2592  2.9961 2.8486| 6.9266 54120 4.8206 4.4994
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d=nu=9 » oy =L 1 UK o =0 5 o ~ 1
X X \/ﬁ \/g X X J
@CI={7<X <11} ={-2<7<2} » P(-2<2<2)=2x0.4772=0.9544
(b)R={X>11}={z>2} > p=P(2>2)=05-0.4772=0.0228
(€)Z £ df =9-1=8[Y y? 53l > 2 0146 =20.0902 > R={Z >20.0902}
2.
(@) F, o065 = 6-3707 » R={X >6.3707}
1 1
(0) F,_o 05,665 =3-5806 > F__ e 661 = = =0.2411 >
0.05,df =(6,8) 0.95,df =(6,8) Fa:O.OS,df:(&G) 4.1468
Cl ={0.2411< X <3.5806}
3.

t,oorais =3.3649 » R={X >3.3649)



